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Oo3eku 3cenrTe.
0 oHA*5+3 oHA=
0 MUHA*7+4 MUHAO=
j 0 »Ky34,*3+2 »Ky3a=

0 >Ky34*1+1 Ky3a=




Oo3eKu acenrTe.
0 oHA™*5+3 oHA=3 OHA,
0 muHAa*7+4 MMHA=4MWNHA,
0 >Ky34*3+2 KYy34=2)XKY3LA
0 »Ky34*1+1 xKy3a=1xKy3a
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803*5= 50801*4=

4019*7= 90048*7=
41008*6=
70032*8=




803*5-4015 50801*4=203204 -g“

4019*7 28133 90048*7= 630336
41008*6=246048
70032*8=560256
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»annol bapabirbi
ULUTEreH KYHY

440 T




80 KYH 400 T
6upaei 9 KYH
80 KYH 320 T

400+320=720
720:9=80

*K: 80 TOHHa byynai







blkuam nwitTee
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1) 8 »kaHa 3125 caHAapbIHbIH
KebenTyHaycyH 5186 ra _
KU4YUPEUT. :
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2) IH, KnuunHe 6 opyHAayy caHabl 4
10 sce YOHOWTYM, HAaTbIUXKACbIH
1000 3ce Kuumnpewur. -
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3) 872 »KaHa 8 caHAapbIHbIH
TUMMHANUCUH 7 3Ce ‘-IOH,OﬁT.
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1) 8*3125-5186=19814
2) 100000*10:1000=1000
3) 872:8*%7=763




Oo3eKku unuTtee.
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